Subject Code :

Subject
Code

103

103

103

Exam
Date

09-
09-
2018

09-
09-
2018

09-
09-
2018

Q
Id

281

282

283

Answer

Questions Key

In Indian Constitution, which of the following article guarantee Right
to Education?

HRTT Sfaem &, Fafafed & 9 & a1 srwe e & siiieR
P IR AT B2

(A) Article 14

TG 14

(B) Article 15
15

(D)

(C) Article 16

3¢ 16

(D) Article 21A

3TE 21A

In August 2018, which of the following country have signed second
protocol amending Comprehensive Economic Cooperation Agreement
with India?

AT 2018 H, FEfRad & 9 ford <=1 HRA & 91y U Sfdfas
TR T H =N HR T ek Wedrd WR gealar fad g2

(A) Singapore

(A)
(B) Japan
NG

(C) Indonesia

(D) Germany

Which of the following acid is found in banana? (A&
(B) &
Fo § FafiRad & & SF 91 3 T STl 82 (D)

(A) Citric acid
ffee e

(B) Acetic acid

THifes o

(C) Oxalic acid
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3ffifers 3
(D) Malic acid
Afres 3

According to NABARD, All India Rural Financial Inclusion Survey
2016-17, how much of rural income is generated by agriculture?

qraTs AT YR Treior foi THa== 9d&rm 2016-17 &
YR, farat ureior oma Y gRT IJanfed ) et 82

(A) 23%
(B) 40%
(C) 57%
(D) 63%

Which among the following ministry has launched Swach Survekshan
Gramin 2018?

fufafea # 3 fog varay gRT T Jderor Iror 2018 6T @
fpar T g2

(A) Ministry of Agriculture and Farmar's Welfare
PN qUT fob = HedTur T

(B) Ministry of Drinking Water and Sanitation
0F Sl qYT Wasdl HaTerd

(C) Ministry of Rural Development

I IACCAREEIND

(D) Ministry of Earth Science
G faq Harer

In the following question, out of the four alternatives, select the
alternative which best expresses the meaning of the idiom/phrase.
Birds of a feather flock together

(A) There is strength in numbers, a team can achieve what an
individual can't.

(B) people of the same sort or with the same tastes and interests will be
found together

(C) Even if they try people cannot change their tastes or interests

(D) People will flock together when they see an opportunity

(A)

®)

(B)
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In the following question, out of the four alternatives, select the
alternative which is the best substitute of the phrase

Not able to be changed or reformed

(A) Redeemable

(B) Cavalier

(C) Incorrigible

(D) Haughty

In the following question, a sentence has been given in Direct/Indirect
speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

She said, "Mother, this dress looks beautiful."

(A) She said to her mother that, this dress looked beautiful.

(B) She said to her mother that, that dress looked beautiful.

(C) She said to her mother that, that dress looks beautiful.

(D) She said to her mother that, this dress looks beautiful.

The question below consists of a set of labelled sentences. Out of the
four options given, select the most logical order of the sentences to
form a coherent paragraph.

According to the steady-heating
A-in turn have a specific density
B-model, the coronal loop of a given
C-length and temperature should

(A) ACB
(B) BCA
(C) CAB

(D) CBA

Answer the given question based of the following passage.

My favorite part of Saturday is walking through the city. Sometimes I
close my eyes and let Daddy’s hand guide me. When my eyes are
closed, I can hear things I don’t usually notice. I can always hear the
cars honking and the people shouting. But when my eyes are closed, I
notice how the pigeons talk to each other while they sit on the benches.
I notice how the bell on Wilson’s Grocery door sounds different than
the bell at the hardware store.

What does the writer notice only if she closes her eyes?

(A) The talking of the pigeons

©

(B)

(B)

(A)
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(B) The honking of the cars
(C) The shouting of the people

(D) The holding of daddy's hand

Raman sold a car to Rajat at a loss of 14.28%. Rajat sold it to Vinit at a
profit of 66.66%. If Rajat purchased the car at Rs 1400, then at what
price (in Rs) Raman bought that car?

T 3 o7 I TP ST 14.28% D1 81 TR T | Io7d A fa-ia &
66.66% B TTH TR 9T | Tfe ToTd = ST 1400 T H WS, A T A
g M fheA geu (3 ) R W

(A) 1120

(B) 980

(C) 1633.33

(D) 1167.67

L, M and P can do a certain piece of work in 15, 20 and 40 days
respectively. They started the work together. M left the work after 4

days of starting and P left the work before 3 days of completion. In
how many days the work will be completed?

L, M a7 P U &1 &I HHT: 15, 20 9UT 40 & & R Ihd g |
I BT 1Y B URY {511 M, 1 = 811 & 4 & uera ol
BISHR I 1 a1 P, B Yol g1 & 3 a1 7d i Bredwr Ia
7| BT fasae &1 & ol gt s

(A) 9(6/11)
(B)9(9/11)
(C) 10(5/11)

(D) 9(8/11)

©

(A)

(B)
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In the square ABCD, E is the midpoint of CD. BD
and AE intersect at point O. If the area of AAOB is
36 m?, then what will be the area (in m?) of AODE?

@ ABCD &, E, CD & #ew faeg &1 BD @
AE faeg O W ufd=tg & §1 A AAOB &
8%l 36 M2 § af AODE & &i9%a (3.2 &)
FIT B

(A) 18

B)9

©) 12

(D) 24

If tan 0 = 7/12, then what will be the value of [(sin 6 + cos 0)/(3 sin 0 +

4 cos 0)]?

Tfd tan 0 = 7/12,?‘13[ [(sin 6 + cos 0)/(3 sin 8 + 4 cos 0)] DT HIT R

RN

(A) 17/69 (B)
(B) 19/69
(C) 17/36
(D) 17/67
L2y CASE QN X2 (C)
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The bar graph given below shows the production
(in quintals) of three companies in the given three
years.

#@rr few aw gos g & Ry aw &= adf # go
a7 wufeat & scuea (Baeer #) & gerar
&l

Company / U=l
oA mB oC
2500 -
E 2000 - jgsg A
g 1500 - 1100 1200
= 950
g 1000 + 700 700
2 500
© 500 {300 H H HI
o
D |_I Ll ] 1
2014 2015 2016
Year / a§

wkkk CASE QN wkkk

Total production of company B in year 2014 and 2016 together is what
percentage of the total production of company C in year 2016?

Ty 2014 TUT 2016 H FHATHR HUAT B PT Hdl IATEH, I 2016 H
a‘ﬁﬁc%ﬁ%ﬁ%ﬂﬂﬁ%?

(A) 160

(B) 200

(©) 150

(D) 250

In the following question, select the related number from the given
alternatives.

23:60::47:?

e uy o fou 7u fasedt & ¥ et Tem &1 g+l
23:60::47:?

(A) 74

(B) 54

(C) 64

(D)
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(D) 84

Rajat started walking from point P. He walked 14 km towards north
and reached point Q. He then turned right and walked 37 km to reach
point R. He turned left and walked 24 km to reach point S. He finally
turned right and walked 18 km to reach point T. What is the straight
line distance (in km) between point T and point R?

IoTd A forg P T I URY fohan| a8 14 fop M. IR BT 3R e aut
fSmg Q TR Ug = AT | I8 bR <Y 3R HaT YT 37 fob #1. =rerehx ferg
R TR UG 7471 95 a1T SR T et 24 fos it W%Tg{suwga
AT 98 3fdd: GRIT 3R g1 a4 18 foh 7. Taan forg
w@gmzm@z%uw%ﬁ%ﬁ%@@@:ﬁ fr) u%a

(A) V5165
(B) 30
(C) 28

(D) V890

What will be the mirror image of the given
figure?

& TE APy @ guor ufafesa w=ar e

B R
9 A
4 K
A)
A 4
Ad
A b
(B)
A 8
& P
A b

©

®)

B
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A B
A9
A b
D)

A 8
v P
A b

In the following question, select the missing number from the given
series.

39, 41, 43,47, 47, 53,51, ?

frafafad vy o o T fawedt o 9 qw siw I1d Sifor|

39,41, 43,47, 47, 53,51, ? (A)
(A) 59

B) 55

(©) 69

(D) 65

Select the correct set of mathematical operations to correct the given

equation.

38712711474 ?53=-45

f3T T geieRur & Hel B & fore i diarsdi & gt 9ig
$I AT

38212?11424?53=-45 (D)
(A)—, +, + %

(B) %, +,— +

C)+, — +x

D) x, =, +,—

Which of the following statements is correct? (B)
P A I FH I I T P

(A) Excess of alumina in the clay makes the brick brittle and weak

A o Sy o il Se & ATgd 3R HHSR ST 8

(B) Excess of alumina in the clay makes the brick crack and warp on



103

103

103

09-
09- 302
2018

09-
09- 303
2018

09- 304
09-
2018

drying

%ﬁ@ﬁ&@maﬁaﬁw&aﬁq@ﬁwwﬁwsﬁﬁqm

(C) Excess of alumina in the clay leaves high power deposit on the
brick

R Sreaf Y srfiear So I g T R a3

(D) Excess of alumina in the clay improves impermeability and
durability of the brick

%gaﬂmaﬁaﬁm&ﬁmsﬁ?ﬁmﬁgm

The compressive strength of 100 mm cube as compared to 150 mm
cube is always :

100 e ge & e | 150 ol g b galTa 1 ifokd R -

(A) less
HH

(B) more (B)

(C) equal
RIS

(D) None of these

ST A PIS el
Which of the following is the most correct estimate?

9 o B 1 TS Tt A 82

(A) Plinth area estimate

oy i s

(B) Cube rate estimate ©
Hd X 3{FHHA

(C) Detailed estimate

faeqa o™

(D) Building cost index estimate

ffeET arTd SS 3aH

The technique of finding the fair price of an existing building or (B)
property is known as :

forat SHR I TUfd &1 et S IAd BT Udl a7 Bt db-id
ﬁﬁ% $

(A) Estimation

A T
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(B) Valuation
P T

(C) Pricing
P I HIAT

(D) Costing
GRIGK2S!

The value of the property (without being dismantled) at the end of the
useful life period is known as :

gﬂﬁ%w%%m,@%mu&r@m%m)m

(A) Scrap value
HU

(B) Salvation value

HIed¥H

(C) Junk value
NEZE

(D) Book value

g qH

(B)

The value of the dismantled material less the cost of dismantling is
called :

5 IR & e ¥ 498 B & eI D) HH BT Hedldl 8:

(A) Scrap value
HA

(B) Salvation value (A)

HTed¥H

(C) Rateable value
g 4o

(D) None of these

T A BT el

Whenever colour washing on Asbestos Cement corrugated sheets is (D)
done, in the estimation the plane area of the sheets is increased by:-

e+ TR i Y AeiieR =6 IR 3 fhar Sl g,
SFHMTIER A1ER] & FHAd &aha d &1 gfs 8 ol &:

(A) 5%

(B) 10%



(C) 15%

(D) 20%

Closed contours with higher value inside represents a :
R T T I & 1Y 8¢ 31 A ufaffia a8 th:

(A) depression
SR
09-
103 09- 308 (B)hill ®)

2018 fga

(C) plain surface
ISERSEH

(D) None of these

T A DI Tl

The Horizontal angle which the true meridian makes with magnetic
meridian is called :

RIfST, Jeig WS F Ty S afes w7 @Reiied T
1T 8 39 B8 §:

(A) Magnetic declination
09- ECEARECAC

R-l

2
o
q

103 09- 309 (A)
2018 (B) True declination
£ P
(C) Dip
(D) Azimuth

oY

103 09- 310 Left swing is not much favoured in theodolite survey, because:- ©)
09-
2018 frarsiage ad # due f&iT o1 31fiie yer 8 § ifes -

(A) most of surveyors are accustomed to right hand

SMfAHR Tderds I 81U & ofe g §

(B) it is inconvenient to turn the telescope anti-clockwise
ferpIy Y U -FaerargsT gHHT SIS g1l §
(C) the readings increase clockwise

FAlmass A WS aed 8

(D) vertical scale comes to an inconvenient position to be read

IeHa Whd Ue H SrgfausHe fufd o s Srarg
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The ratio of the volume of water present in a given soil mass to the
total volume of its voids, is known

30 AISEH & 1 diegd & forg &t Tl gt & T  Tielg Ul &
IIegH BT ST STHT STl §

(A) porosity
GRIRYCT

(B) percentage air voids
OO TR 958y

(C) percentage voids

5

(D) degree of saturation

The void ratio of a soil sample having a porosity of 0.32 and a moisture
content of 25% will be:

T gl & T et 0.32 IRIRIET iR 25% 41 8, BT aaS
3{UTd BRTT:

(A)0.33
(B) 0.47
(C)0.78

(D) 1.28

In which of the following terms, the limits are expressed in consistency
of soil?

0 & ¥ o5 wreal & g ot gRimifa o) et o o 82

(A) Percentage of water content

Tt &1 AT BT Ufderd
(B) Area

(C) Volume
SHIAdA

(D) All options are correct

Tuft fospeu et

The void ratio for saturated soil is equal to of water content
and specific gravity of solids.

Fges el ¥ R dre ST UM ¥ 3R 35 RIS oa

(D)

(B)

(A)

(B)
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P R AT g |

(A) sum
ENIEIS]

(B) product
Jdlq

(C) difference
3R

(D) ratio
Sfurd

A soil has liquid limit of 60%, plastic limit of 35%, shrinkage limit of
20% and it has a natural moisture content of 50%. What is the liquidity
index of the soil?

T ST & 60% ava T, 35% WIRed T, 20 % Rige- dar g
3R ITH 50% T Irht g | IS 1 aRTaT Jadie 1 g2

(A) 0.4
(B) 0.6
©) 15

(D) 1.3

Geologic cycle for the formation of soil, is
firect & fmfor & fere el dffore o o

(A) Upheaval — transportation — deposition — weathering
JEM — TRagT — SHT — 3(Te™

(B) Weathering — upheaval — transportation — deposition

3UET — I — URdgd — ST

(C) Transportation — upheaval — weathering — deposition

Ifagd — I3 — U&T — ST

(D) weathering — transportation — deposition — upheaval

39&g — URdgd — S — I3

The ratio of the difference between the void ratio of the soil in its
loosest state and its natural void ratio (e) to the difference between the
void ratios in the loosest and fully dense state, is generally termed as

el ST H AIS SUTd 3R guf =0 & 99 w1 & 19 F SR
& o 3ot gt sty & gt & digs SiuTd 3R 3P Whiad
IS UM (e) & o1 P 3faR P SIUTd B YT U H e §

(A) degree of density

®)

(D)

(D)
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g9 P fSt

(B) relativity
RIEEK]

(C) density index
Yicd Jdhlh
(D) All options are correct

Tt faspeu T8t

How many components are mainly used to prepare concrete?

W%WW%WH@W@W&MWWW
ST &2

(A)S

(D)
(B)3
©)2

(D)4

Retarders are used for:

e o1 ST far Srar &:

(A) Construction of high rise building

St AR & fmTor & forw

(B) Repair works (D)

RWd s & forg

(C) Cold weather conditions

i A @1 fRufa & forg

(D) Grouting deep oil wells

TR A B3l Bl Wen & forw

What is the ratio of components in grade M20 concrete? (B)

A. 1:3:6
B. 1:1.5:3
C.1:1:2
D.1:2:4

US TH 20 SHebIe H 3agdl &1 SJATd T 82

16
3

QOw

10 1.5:
10102



D.1:2:4

(A) Only A
HId A

(B) Only B
B

(C) Only C
HId C

(D) Only D
HId D

Modulus of elasticity of concrete,
E is calculated using:

Sehlc T JcITET I[0TH E I 0T
FoFEeT 3U1eT & T S B

AE=5000V /€K g]E=500Vf ck
09- c) =50V /K ] E=5/f ck

103 09- 321 (A)
2018

(A) Only A
HId A

(B) Only B
B

(C) Only C
&ad C

(D) Only D
HIA D

103 09- 322 Plastering is also called: (B)
09-
2018 @RS &1 g5 ) 8T &1l 3

(A) Pre-casting

3 BT

(B) Pargeting
DAl

(C) Porting
AT
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(D) Polishing
DAl

The size of commonly used specimen for compression test of concrete
is:

FHepic  JulsT Ul & for I dR IR STHTd fht T ard
T BT MHR Bl 8:

(A) 50x30 mm
50 x 30 fore

(B)
(B) 150x150x150 mm
150%150x150 o

(C) 150x50x50 mm
150x50x50 foeT

(D) 150x150 mm

150x150 foet

is used to ensure that the thickness of plastering is
uniform.

T IUGNT T8 AT B & foe fpar s & o
RN Bt AleTS U UM 8

(A) Bul.l point
ESASIES

©
(B) Pivot point

fUalc wrge
(C) Bull mark
g d1%h

(D) Bench mark

EERIED

Which of the following statements is true? (B)

A. Impermeability is a property of fresh concrete.
B. Impermeability is a not property of fresh concrete.
C. Impermeability is nothing to with concrete at all.

ol I s TSy T 82

A. IS ATS rebic &1 UH [UT 5 |
B. 3%l drST deble &1 U 0T Tel ]
C. AT BT hebic & Y F& it Jay &1 B

(A) Only A
A
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(B) Only B
B

(C) Only C
C

(D) None of these
TTH AP 61
A slump of 50-100 mm can be used for:

50-100 T2 & U BT ST 39 forQ fvar o g @

(A) Mass concreting
HE

(B) Strip footing

~

(C) Trench fill
<9 e

(D) Beams

If W is the load on a circular slab of radius R

the maximum radial moment at the center
of the slab is

]

R = R& FA&R Hed W 7 WE,
ar Baw & 7eT A HfOwan e ameger &

WR2 3WR?
A] 16 C] 16 .
IWR2 SWR
B] 16 D] 16
(A) A Only
FHad A
(B) B Only
B
(C) C Only

C

(D)

©
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(D) D Only
D

If the ratio of the span to the overall depth does not exceed 10, the
stiffness of the beam will ordinarily be satisfactory in case of a

gfe; aira 3R et TeRTS T U 10 ¥ 3ifie 781 8, O fpg fRufa
T Y B HERAT THIR W oD ghfT

(A) simply supported beam
TR § FHidd o

(B) continuous beam

IEEGREIL

(C) cantilever beam

(D) None of these

T A DI Tl

For a number of columns constructed in a row, the type of foundation
provided is

T Ufed H ST 7T b IHT P folT USH &1 18 g BT ISR &

(A) footing

(B) raft
N

(C) strap

~

(D) strip

~

If W is the uniformly distributed load on a circular
slab of radius R fixed at its ends, the maximum
positive radial moment at its center is

PR a1 R& AR Gas ors e

fer & 39 W wowA &9 @ faafia s wi,
ar 38% &g # HiOmaw I et 7

1] 3WR? 0] 2WR? WR?

16 16 16

©

(D)

©
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(A) [1] Only
[1] had

(B) [2] Only
[2] Had
(©) [3] Only
[3] Had

(D) Zero
LA

Maximum strain theory for the failure of a material at the elastic limit

is known as

TATRIAT R ATt &1 fawaar & fore sifdiesad a-ma & Rigrd &f

ST ST &

(A) Guest’s or Trecas’ theory

e g1 ¢y &1 Rigid

(B) St.Venant’s theory

e I o1 fRrgid

(C) Rankine’s theory

o &1 Rl
(D) Haig’s theory
T o1 Rigid

Shear span is defined as the zone where:-
AR 3R 1 i % =0 & uRu1fyd e § oraf -

(A) Bending moment is zero

FIR od LA

(B) Shear force is zero

MR IAYIR

(C) Shear force is constant

FR T SR T

(D) Bending moment is constant

FPR o 3R 3

How many constraints are there in a free-rotation support used in a

planar system?

@R Red # IuanT fHT S ara Wh1-1ew = Juid § forat aremg

eIt 82

(A1

®)

©

(B)
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(B)2

©)3

(D)4

In the following questions, j represent no. of joints and r represents no.

of external forces.

If a structure has (2j — r) number of members, then it will be:-

Fafafad usi 1, j St &t Ten &1 ufafAfda Har g iR r a8t

ERIEARINEIRC G

gfe fodft TRE | (2] - ) o=l &) TJ1 8, T T8 T g -

(A) Stable

RR

(B) Unstable

(C) Depends upon structure
W R R F=arg

(D) depends upon magnitude of load
YR & JRHAT0N R AR #xel &

What is the function of portal in bridge trusses?
foror foxg & uida o1 sl 82

(A) To resist lateral forces

uref wfgaal &1 ufaRiy &= & forg

(B) To resist horizontal forces

Afas Falf BT UfaRIY B b forg

(C) To provide additional stability

3fafvad fRURar UeH &34 & fore

(D) To allow thermal expansion

yHe faar & forw

The maximum bending stress in an I- beam occurs at the:-

3MTs-d19 § fUFHTH FHId 719 39 W B o -

(A) Neutral axis
dc¥ W

(B) Outermost fibre

©

©

(B)
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oY J15I &b BISeR T

(C) Joint of wedge and flange

aS 3R ISl b IS TR

(D) Section where shear stress is maximum

TS ogl IR a=1a Sifipar gidaT g

Which of the following statements is true?
Fofafed & 3 S T HyT I 72

(A) The ability of the material to absorb energy till the breaking or
rupture taken place is known as hardness

AT & ST A1 gel aTet R adh Solf DI AR B i
&A1 B HORAT b &Y H ST STl 8

(B) The ability of the material to absorb energy till the breaking or
rupture taken place is known as Toughness

STHTT IT T aTel I dd SHoll BT AN H3A & g At Bt
& 1 Tl & U F S o1l §

(C) The ability of the material to absorb energy till the breaking or
rupture taken place is known as brittleness

T 1 ST A1 e aTel RIF A Sroll DI AN B Bl
& b1 HTRAT % 0 H ST Sl &

(D) None of these
ESERCIEE |
When the length of a tension member is too long

Ve O Ge® 1 ofaTs Sgd 3 gidl 3

(A) a wire rope is used

T dR T BT IuANT fvar Srar 8

(B) arod is used
T IS BT ITANT a1 o &

(C) abar is used
TS IR BT IUANT b ST §

(D) a single angle is used

T R Wrd &1 SuaNT fhar Siran g

The allowable stress in axial tension is generally kept less if thickness
of the member is more than

31&f T H Wi d=Td 31T AR IR S 1 il § IS Gawd i
e F e Rl

(A) 10 mm
10 foredt

B

©

(D)
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(B) 12 mm
12 fore

(C) 15 mm
15 forey

(D) 20 mm

20 fodt

If the capillary rise of water in a 1 mm diameter tube is 3 cm, the height
of capillary rise of water in a 0.2 mm diameter tube in centimetre will
be :

e | ot oo g o Ut &t B afg 3 eft g, at 0.2 ot
Y &E H U &1 HIRIDT gfG Bl s e & ghf:

(A)1.5
(B)7.5
©) 15
(D) 75

Which of the following statements is true?
Fofifed & ¥ &F 9 $3F 93 52

(A) Isohyets are the imaginary lines joining the points of equal rainfall.

5 1 el Y & o GHT a1 & Sfept ol el 21

(B) Isohyets are the imaginary lines joining the points of equal
humidity.

METIETECY QI HIedh @Y § S GAH Ha & el ) firrdt
g

(C) Isohyets are the imaginary lines joining the points of equal height.

; N PTedh TN & Sl GHA T8 b i 1 FArereht
|

(D) Isohyets are the imaginary lines joining the points of equal
pressure.

SMEHIETSCH dl Bledi-ch XGTY § Sl YHI Ga1d & 3fcb I FHveirll
gl

By which of the following phrase is time required by rain water to
reach the outlet of drainage basin, is generally called?

M AR W Fufafad & ¥ &9 3 g I, SRS & gl B aRkE
F 33cale I 9IER M do b JHY B, T Bl Sidl 82

©

(A)

(A)
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(A) Time of concentration

Ul hl JHY

(B) Time of overland flow

YR Ydlg I JHI

(C) Concentration time of overland flow

YcTeR Ydle T UhTIdI JHY

(D) Duration of the rainfall

SR I 3rafy

Canal normally used for diversion of flood water of a river is:-

w?mm:@w@mﬁmm@%mwm
SIIdl g: -

(A) Feeder canal

THIe A8

(B) Inundation canal

ST R

(C) Ridge canal
T Te7

(D) Contour canal

BIgR TR
Due to slipping of the wheels the rail forms :

ufgal ! fhae & HRUIIA U8 U YR Hdl

(A) Crushed head
Fadl RR

(B) Battered ends
dcs tey

(C) Spilt head

(D) Horizontal fissure

IS WR

The absolute minimum radius of curve for safe operation, for a speed
of 110 kmph is:-

110 foretieiex ufd €¢ &t 71t & RIE Hare & fod asb &1 quf
AT AT R: -

(A) 110 m
110 H.

B

(A)

®)
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(B) 440 m
440 ¥,

(C)220m
220 Y.

(D) 577 m
577 ¥,

Which of the following statements is true?
Frafiied # I P WA I &2

(A) On a horizontal curve if the pavement is kept horizontal across the
alignment, then the pressure on the outer wheels will be more than the
pressure on inner wheels.

TH TS ah TR, 3R Feury AR & 1Y SHTST @ o1l §, <
131 Ufgdl IR gaTa SidaRe Ufedl & gard ¥ i ghm|

(B) On a horizontal curve if the pavement is kept horizontal across the
alignment, then the pressure on the outer wheels will be less than the
pressure on inner wheels.

U TS Ih W, 3R Feury AR & 1Y SHTST @ 51l 8,
16} ufeal R gara siidfke ufedl & gara w9 gl

(C) On a horizontal curve if the pavement is kept horizontal across the
alignment, then the pressure on the outer wheels will be equal to the
pressure on inner wheels.

TP TS Ih TR, 3R Feurd AFRAT & 1Y SHTST I 51l 8,
ITe<) ufeal R gara siidfke ufgdl & gaTa & SRTeR gh |

(D) On a horizontal curve if the pavement is kept horizontal across the
alignment, then the pressure on the outer wheels will be zero.

TS BIRSlied 9 IR, 3R UgHed! TARTHE & 1Y Bikelied 3@l
ST 8, Al 916! ufedl IR aara 3 g

Anaerobic treatment is best suited for :

TR ITIR 39 T Jed Iuger o

(A) High efficiency
3=

(B) Toxic wastes

PRI

(C) Dilute inorganic wastes

3ifdd R Bl udell B

(D) Strong organic wastes
S Wifde Bl

(A)

(D)

©
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A fundamental difference between sedimentation tank for water and
sewage is:-

U & foIT SravreH 8 iR 7ie A1d & ot U Hifeie SR §: -

(A) Sewage sedimentation tanks are bigger
TG 1 & ST ¢F IS BIl §
(B) Sewage sedimentation tanks have more de%th

T 1ol & 3T ¢l § SUIel RIS gt

(C) Sludge from sewage sedimentation is to be removed more
frequently

T T & SHAHTEH Y Bias P SR g &1 §
(D) It can be final treatment of operation in water treatment

I o SUAR & TATe $1 3ifad IUaR & gl &

Which of the following statements is true?
Fofifed & 4 o T HyT I 82

(A) The most common cause of acidity in water is carbon dioxide.
1 H 3R] BT T 3TH HRUT HIeH SIFHIRITS %l

(B) The most common cause of acidity in water is nitrogen. (A)

U STdT &1 qad 3HTH HRUT A1ZeoH ¢ |

(C) The most common cause of acidity in water is oxygen.

Ut ST BT Jad 3TH HRUT RIS 2|

(D) The most common cause of acidity in water is hydrogen.

U ScTdT &1 qad 3HTH HRUI 2o g |

Which of the following statements is true? B)
fFafafed & 3 I a1y I3 82

(A) The rate of BOD exerted at any time is directly proportional to the
BOD satisfied.

fopaft off T @ TE 7Y BOD (it o1 &R WP BOD (d13fieh) &
HY =T B

(B) The rate of BOD exerted at any time is directly proportional to the
BOD remaining.

fopit +ft TFg TITE U BOD (S13HIST) H1 &R AW BOD (3fel) &
He =T B

(C) The rate of BOD exerted at any time is inversely proportional to the
BOD satisfied.

fopit +ft TFg TITE U BOD (S3HIST) &1 &R AP BOD (SISl &
faumdiad: s Rl

(D) The rate of BOD exerted at any time is inversely proportional to
the BOD remaining.



fopit +ft g TIE T BOD (SteHiSt) &1 &X §d §UBOD (d13fel) &
faudtaa: sr=u g1



